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The problem of scarcity

arises only in poor countries.

exists because the price of goods is too high.
exists because of limited resources.

will eventually be solved by better planning.
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An increase in an individual’s income without changing relative prices will
rotate the budget constraint about the X-axis.

shift the indifference curves outward.

shift the budget constraint outward in a parallel way.

rotate the budget constraint about the Y axis.
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If an individual’s housing purchases are always a constant fraction of income, then the
income elasticity of demand for housing is

greater than one.

equal to one.

less than one.

Cannot be determined from the available information.
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4. Technical progress will

A. shifta firm’s production function and its related cost curves.

B. not affect the production function, but may shift cost curves.

C. shift a firm’s production function and alter its marginal revenue curve.

D. shift a firm’s production function and cause more capital (and less labor) to be hired.

5. In order to maximize profits, a firm should produce at the output level for which
A. average cost is minimized.

B. price minus average cost is as large as possible.

C. marginal cost is minimized.

D. marginal revenue equals marginal cost.
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6. Positive economic profits exist for a firm in the long run if price is above
A. long-run average cost.

B. long-run marginal cost.

C. long-run total cost.

D. long-run variable cost.

7. The Prisoners’ Dilemma is not a constant sum game because
A. some outcomes are better than others for both players.

B. the prisoners’ sentences are necessarily non-zero.

C. the game does not have a Nash equilibrium.

D. the sum of the prisoners’ sentences in non-zero.

8. Adverse selection in competitive insurance markets harms
A. high risk individuals.

B. low risk individuals.

C. owners of insurance companies.

D. Everyone.

9. All monopolies exist because of
A. firms’ desire to maximize profits.
B. failure of antitrust laws.

C. barriers to entry.

D. natural selection.

10. In the price leadership model,

A. firms believe that price increases result in a very elastic demand, while price decreases result

in an inelastic demand for their product.

each firm acts as a price taker.

firms coordinate their decisions to act as multi-plant monopolies.

D. one dominant firm takes the reactions of all other firms into account in its output and pricing
decisions.

0w



	乙生

